Calculate Linux - Bug # 1078: Codeblocks fail to run

Status: Closed Priority: Normal
Author: b'D, DN, D¥NE€ D3N fNeN,DY:D?2 Category:
Created: 07/01/2018 Assignee:
Updated: 09/26/2018 Due date:
Subject: Codeblocks fail to run
Description: <pre>
Fatal Error: Mismatch between the program and library build versions detected.
The library used 3.0 (wchar_t,compiler with C++ ABI 1010,wx containers,compatible with 2.8),
and your program used 3.0 (wchar_t,compiler with C++ ABI 1011,wx containers,compatible with 2.8).
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</pre>
<pre>
[1] dev-util/codeblocks
D"P¥%NeN,NfD¢DY:NPU D2DUNEND D :  (~)17.12 [M](~)17.12-r300 **9999 {contrib debug fortran pch
static-libs}
DEN-N,D°PY:D¥Y:D2D»Dub¥:D¥%:NDu D2DUNEND D :  17.12(08:28:37 30.06.2018)(fortran -contrib
-debug -pch)
</pre>
History

09/26/2018 07:17 am - Alexander Tratsevskiy
- Status changed from New to Closed
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